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5.2 Re-Teach Worksheet Name KE Y

Intermediate Algebra B

5.2 | can represent real-world situations with quadratic equations and solve using appropriate i
methods. . e gt N o T S

Level 1:
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Solve the quadratic Equations:
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- The Buckingham Fountain in Chicago shoots water from a nozzle at thebase of the fountai
height, in feet, of the water above ground t seconds after it leaves the nozzle is given by
h(t) = —16t% 4+ 90t + 15
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a) What is the maximum height of the water spout to the nearest tenth of a foot?
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b) How long does it take for the water to hit the ground? P
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5.2 Re-Teach Worksheet

Intermediate Algebra B
Simplify the following Radicals:

‘7.\/—_75
WEE
(VT TS
LIz S
= oIVE}

%1 9. V45

.“§! Ja \)-St
= 3d5

L.‘ﬂuﬂ Eﬁ }“LL-.LM:M!LM}J@;:”L H& % .

d il cdknd b ndiendidibd fuke
w
I+
o
=

:yMJLga
o
|
W
Do
\/
g\

L ey e
s i..:‘;j.'ht [N

sl
‘%

ylll .
A

R PN
—J
(+
A

R TSR

L S T o S &5

e LEY

—-8+Vv-100

-8+ )00
—
AESC L3
2 J‘g

-4+/48
2(3)

RERE)

12.

14.

= TS S -2+ 2J3
”‘f L - 3
e—
12 2 <
.,:% “)_’t'" - 3 Lt <
i

o S TR



